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SECTION I- READING COMPREHENSION 

Directions for Questions 1-7: Read the following passage carefully and choose the most 

appropriate answer to each question out of the four alternatives given. 

 
Thomas Edison was born in 1847 in Milan, Ohio. He was nicknamed “AI” at an early age. At age 

11, Edison moved to Michigan where he spent the remainder of his childhood. Thomas Edition 

struggled at school, but learned to love reading and conducting experiments from his mother 

who taught him at home. At age 15, Edison became a “tramp together”, sending and receiving 

messages via Morse code, an electronically-conveyed alphabet using different clicks 

for each letter. In 1870, Edison moved to New York city and improved the stock ticker. He soon 

formed his own company that manufactured the new stock tickers. He also began working on 

the telegraph, and invented a version that could send four messages at once. Edison then 

moved with his family to New Jersey where he started his famous laboratory. In 1877, Edison, 

with the help from “muckers”, individuals from around the world looking to make fortune in 

America, invented the phonograph. The phonograph was a machine that recorded and played 

back sounds. In 1878, Edison invented the light bulb as well as the power grid system, which 

could generate electricity and deliver it to homes through a network of wires. He subsequently 

started the Edison Electric Light Company in October of 1878. Edison continued to invent or 

improve products and make significant contributions to X-ray technology, storage batteries and 

motion pictures (movies). Edison was a prolific inventor, holding 1,093 US patents in his name, 

as well as many patents in the United Kingdom, France and Germany. 

 
1. As per the above paragraph, which of the following was the first accomplishment of Thomas 

Edison? 

(a) Inventing tin foil 

(b) Inventing an improved stock ticker 

(c) Inventing the light bulb 

(d) Inventing an improved x-ray 

 
2. A phonograph most similar to: 

(a) A record player 

(b) A walkie talkie 

(c) A television 

(d) A microphone 
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3. In which state did Thomas Edison not live? 

(a) Michigan 

(b) New york 

(c) Ohio 

(d) Massachusetts 

 
4. Which of the following describes Morse Code most appropriately? 

(a) A system of clicks that stands for current 

(b) A system of clicks that stand for letters 

(c) A system of clicks that stands for words 

(d) A system if clicks that stands for signals 

 
5. Who is a “mucker”? 

(a) Someone from Thomas Edison’s family 

(b) Someone from another country 

(c) Someone from another country hoping to make a fortune in America. 

(d) Someone from another country hoping to find a home in America. 

 
6. Which of the following is not included in Thomas Edison’s invention? 

(a) The first phonograph. 

(b) The improved stock ticker. 

(c) A power system that could deliver electricity to homes. 

(d) The first storage battery 

 
7. How many patents Edison registered worldwide? 

(a) 1093 

(b) More than 1093 

(c) 957 

(d) None of the above 

 
8. Select the word closely related to platitude: 

(a) Trite remark 

(b) Concerned feeling 

(c) Disdainful attitude 

(d) Protest 

 
9. Select the word closely related to buttress: 

(a) Negate 

(b) Buttering 

(c) Mock 

(d) Strengthen 



www.lawyersgyan.com 

 

Direction: (Questions 10-14): Choose the most appropriate word(s) among the four given 

alternatives to fill in the gap(s): 

 
10. My mother asked me to demonstrate a of common sense to make the right decision. 

(a) Modicum 

(b) Fractious 

(c) Disdain 

(d) Culpability 

 
11. Although leprosy is not a highly contagious disease, those who have contracted it have 

always been pariahs and have been by others. 

(a) Accepted 

(b) Admonished 

(c) Sheltered 

(d) Ostracized 

 
12. The film’s hero, a pearl diver, naively expects that the purchasers will compete amongst 

themselves to pay him the best price for his pearl, but instead they to him. 

(a) Work…help 

(b) Plan….incentives 

(c) Refuse….deceive 

(d) Collude….swindle 

 
13. After hours of acrimonious arguments the negotiations reached a(n) : neither side was 

willing to compromise. 

(a) Solution 

(b) Resolution 

(c) End 

(d) Impasse 

 
14. Punishment for transgressions of the law ceases to have a deterrent effect if the punishment 

is frequently . 

(a) Changed 

(b) Arbitrary 

(c) Lenient 

(d) Commuted 

 
Directions (Questions 15-19): In the following questions four alternatives are given for the 

idiom/phrase italicized and underlined in the sentence. Choose the alternative which most 

appropriately which most appropriately express the meaning of the idiom/phrase. 

 
15. Professor Giri said, “We will have to cover a lot of ground in this course”. What did he mean 

by “cover a lot of ground”? 
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(a) We have to skip a large of syllabus 

(b) We have to complete a lot of material 

(c) We have to start from basics 

(d) We have to travel a lot 

 
16. Ramesh said to me, You have the floor. What does this mean? 

(a) You have practically won 

(b) You have full right to disagree 

(c) You have full permission to speak your mind now. 

(d) You have tenancy rights over the property’s floor 

 
17. “To play second fiddle” means: 

(a) To support the role and view of another person 

(b) To act like a minor criminal 

(c) To deceive your superior 

(d) To play the second musical instrument 

 
18. “Hanging fire” means: 

(a) Going to be sacrificed 

(b) Going on slowly 

(c) Being hotly debated 

(d) Going to be burnt soon 

 
19. “Go out on a limb” means: 

(a) Being at two places at the same time 

(b) Put oneself in an isolated or disadvantageous position 

(c) Going somewhere without being noticed. 

(d) Fracturing one’s own limb. 

 
Direction (Questions 20-26): Choose the most appropriate word that is nearly opposite in 

meaning to the given word. 

 
20. CORROBORATE 

(a) Deny 

(b) Differentiate 

(c) Affirm 

(d) Create artificially 

 
21. Archaic 

(a) Novel 

(b) Somber 

(c) Soft 

(d) Archeological finding 
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22. Arbitrary 

(a) Customary 

(b) Mediate 

(c) Legitimate 

(d) Desperate 

 
23. Affable 

(a) friendly 

(b) surely 

(c) Winsome 

(d) Livid 

 
24. Adulate 

(a) Moderate 

(b) Admire 

(c) Lambaste 

(d) Adulterate 

 
25. Recant 

(a) Noisy 

(b) Militaries 

(c) Reuse 

(d) Assent 

 
26. Excoriate 

(a) Diminish 

(b) Excommunication 

(c) Abandon 

(d) Acclaim 

 
Direction (Question 27-31): In each of the following questions, there is certain relation between 

two given word on one side of: 

 
27. Club: Golf:: : 

(a) Candid : Disingenuous 

(b) Racket: tennis 

(c) Author: book 

(d) Ball: soccer 

 
28. Plaint: Rigid :: : 

(a) Petulant : Adulterated 

(b) Moist : wet 
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(c) Excessive: overgrown 

(d) Crass: refined 

 
29. Arguing : litigation : courting : 

(a) Romance 

(b) Judiciary 

(c) Adjudication 

(d) Dispute 

 
30. Plaintiff : Defendant :: : 

(a) Court: Law 

(b) Victim: Accused 

(c) Judge: Jury 

(d) Husband: wife 

 
31. Tax: Exemption :: : 

(a) Crime: punishment 

(b) Disease: immunity 

(c) Trail: Forfeit 

(d) Fine: Money 

 
32. Select the word most closely related to buttress: 

(a) Obliterate 

(b) Confuse 

(c) Overlook 

(d) Support 

 
SECTION II- GENERAL KNOWLEDGE 

 
33. Who won the T-20 Cricket World Cup for Women in 2016? 

(a) India 

(b) Australia 

(c) West indies 

(d) England 

 
34. On 23rd April 2016, death anniversary of William Shakespeare was celebrated. 

(a) 200th 

(b) 300th 

(c) 350th 

(d) 400th 

 
35. In which of the following States, President’s Rule was imposed in 2016? 

(a) Assam 
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(b) Nagaland 

(c) Arunachal Pradesh 

(d) Tripura 

 
36. With which of the following, the recent Panama Papers Leak controversy primarily relates? 

(a) Money laundering and evasion of tax 

(b) Destabilize the political parties in several countries 

(c) To cheat world Bank and IMF 

(d) To conduct terrorist attacks in many countries 

 
37. When was Zika virus first isolated? 

(a) 1947 

(b) 1987 

(c) 1996 

(d) 2016 

 
38. The term “Dirty Snowball” is related to 

(a) Comets 

(b) Meteorites 

(c) Space debris primarily from space craft 

(d) Asteroids 

 
39. Who is the author of “To Kill a Mockingbird”? 

(a) Chetan bhagat 

(b) Harper Lee 

(c) Paulo Coelho 

(d) Agatha Christie 

 
40. The 30th anniversary of which of the following disaster falls in 2016? 

A. Cherbonyl Nuclear disaster 

B. Bhopal gas Disaster 

C. Delhi Oleum Gas Disaster 

D. Fukushima Nuclear Disaster 

 
41. Where is the headquarter of European union? 

(a) Paris 

(b) Brussels 

(c) Rome 

(d) Strasbourg 

 
42. Which of the following is the incorrect match? 

Group A Group B 

(a) The Alchemist Paulo Coelho 
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(b) The Old Man and the Sea Ernest Hemingway 

(c) Harry Potter and The Philosopher’s stone J.K. Rowling 

(d) Our Impossible Love Jeff Kinney 

 
43. Who was the first speaker of Lok Sabha? 

(a) Sardar Hukum Singh 

(b) Bali Ram Bhagat 

(c) G.V. Mavalankar 

(d) Sir Shadi Lal 

 
44. Which of the following pairs is incorrect? 

(a) Telephone Graham Bell 

(b) Small Pox Vaccination Eduard Jenner 

(c) Diesel Engine Carnot 

(d) Ball Point John J. Loud 

 
45. “Sare /jahan Se Achha Hindustan Hamara” was written by 

(a) Bankim Chandra Chatterjee 

(b) Ram Prasad Bismil 

(c) Rabindra Nath Tagore 

(d) Iqbal 

 
46. “Sunny Days” is the autobiography of 

(a) Sachin Tendulkar 

(b) Sunil Gawaskar 

(c) Sunny deol 

(d) Shrikant 

 
47. “Silicon Valley of India” refers to 

(a) Bengaluru 

(b) Pune 

(c) Gurgaon 

(d) Hyderabad 

 
48. Who was the Chief Guest on the occasion of 67th Reublic Day of India? 

(a) Barack Obama 

(b) Francois Hollande 

(c) Xi Jimping 

(d) David Cameron 

 
49. Who among the following cricketers scored the fastest century in the Test matches? 

(a) Brendon McCullin 

(b) AB de Villers 
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(c) Chris Gayle 

(d) Virat Kohli 

 
50. A referendum on whether United Kingdom should remain a member of the European Union 

or leave it, is to take place on 

(a) July 28, 2016 

(b) September 20, 2017 

(c) October 15, 2018 

(d) June 23, 2016 

 
51. Who is Raul Castro? 

(a) President of Columbia 

(b) President of Peru 

(c) President of Cuba 

(d) President of Panama 

 
52. Who is the present Prime Minister of Nepal? 

(a) Khadga Prasad Sharma oli 

(b) Girija Prasad Koirala 

(c) Sushil Koirala 

(d) Madgav Kumar Nepal 

 
53. The total number of States in India is 

(a) 29 

(b) 27 

(c) 25 

(d) 21 

 
54. Who among the following won the Fields Medal in 2014 for his/her achievement in 

mathematics? 

(a) Shakuntala Devi 

(b) Manjul Bhargava 

(c) Venkatraman Ramakrishnana 

(d) Raghuram Rajan 

 
55. Who among the following is the co-founder of the popular social networking site, Twitter? 

(a) Charles Babbage 

(b) Jack Dorsey 

(c) Bill Gates 

(d) Mark Zuckerberg 

 
56. Who has recently appointed as the Chairman of Banks Board Bureau (BBB)? 

(a) Vinod rai 
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(b) J.B. Rao 

(c) Upendra Kumar Sinha 

(d) K. Naranyamurthy 

 
57. The Indira Gandhi International Airport of New Delhi has been ranked at number 

position in 25-40 Million Passengers Per Annum (MPPA) category in 2015 in ASQ Survey. 

(a) 1 

(b) 2 

(c) 3 

(d) 4 

 
58. The branch of medicine concerned with the study of cancer is 

(a) Oncology 

(b) Cardiology 

(c) Pathology 

(d) Ophiology 

 
59. Acquired Immune Deficiency Syndrome (AIDS) is caused by: 

(a) Protozoa 

(b) Virus 

(c) Fungus 

(d) Bacteria 

 
60. The recommendation of Justice Lodha Committee primarily relates to 

(a) BCCI 

(b) Reservation for the Jat people 

(c) Reform in the labour sector 

(d) Pathankot incident. 

 
61. Find the incorrect match: 

Group A Group B 

(a) Mukul Rohtagi Attorney General of India 

(b) Ravi Shankar Prasad Law Minister of India 

(c) H. L. Dattu Chairperson, NHRC 

(d) T.S. Thakur Chief Justice of India 

 
62. Who among the following former Secretary Generals of the United Nations died in February 

2016? 

(a) Kofi Annan 

(b) U. Thant 

(c) Javier Perez 

(d) Boutros Boutros Ghali 



www.lawyersgyan.com 

 

63. Find the incorrect match: 

Group A Group B 

(a) Neither Roses Nor thorns H. R. Khanna 

(b) My Life: Law and Other things M.C. Setalva 

(c) Roses in December: an Autobiography M C Gupta 

(d) Before Memory fades : An autobiography V R Krishna Iyer 

 
64. Who among the following was not the Chief Justice of India? 

(a) Justice P. Sathasivam 

(b) Justice Altamas Kabir 

(c) Justice S.H. Kapadia 

(d) Justice M Jagannadha Rao 

 
65. When did World Trade Organisation (WTO) come into force? 

(a) January 1994 

(b) January 1995 

(c) January 1996 

(d) January 1998 

 
66. How many nations are currently members of the United Nations? 

(a) 191 

(b) 192 

(c) 193 

(d) 194 

 
67. The Supreme Court of India comprises the Chief Justice and other Judges. 

(a) 24 

(b) 25 

(c) 29 

(d) 30 

 
68. Who is the Chairperson of Law Commission of India? 

(a) Justice Cyriac josephs 

(b) Justice B. S. Chauhan 

(c) Justice K.G. Balakrishnan 

(d) Justice S.H. Kapadia 

 
69. “Legal Principle: No person shall be prosecuted and punished for the same offencemore 

than once. 

Facts: Suresh harasses his colleagues Nimita in the office. Nimita makes a complaint to her 

employer and also to the police station. Following the recommendations of the departmental 

committee, the employer terminates the services of Suresh. The police also arrested him and 

prosecution started. He defended that he cannot be punished twice. 



www.lawyersgyan.com 

 

Which of the following options in correct? 

(a) He cannot be prosecuted 

(b) He can be prosecuted because departmental proceedings are different from prosecution. 

(c) It is the sole discretion of the court to prosecute gim or not to prosecute him as he has 

already paid a price by losing his job. 

(d) The court has to prosecute only if the departmental committee has recommended his 

prosecution. 

 
70. Recently, Rahul Raj Singh, the boyfriend of TV actress Pratyusha Banerjee was arrested for 

(a) Her murder 

(b) Her suicide 

(c) Abetting her suicide 

(d) Her culpable homicide 

 
71. Which of the following countries recently blocked Indian efforts to list Jaish-e-Mohammed 

chief Masood Azhar as a terrorist at the UN sanction committee? 

(a) France 

(b) Germany 

(c) United Kingdom 

(d) China 

 
72. Which of the following is not a subject matter of protection under the Copyright Act, 1957? 

(a) Computer program 

(b) Industrail design 

(c) Work of architecture 

(d) Film script 

 
73. Which of the following is protectable under the Patent Law? 

(a) Discovery 

(b) Idea 

(c) Invention 

(d) All of the above 

 
74. Under which of the following statutes, the Tripuathi Laddu has been protected? 

(a) Copyright Act, 1957 

(b) Trade Marks Act, 1999 

(c) The Plant Varieties and Farmers Right act, 2001 

(d) The Protection of Geographical Indications of Goods Act,1999. 

 
75. The Directive Principles of State Policy are normally given effect by 

(a) Laws made by the Government. 

(b) Judgments of the courts. 

(c) Orders of executives. 
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(d) Doing nothing as effect has already been given by the Constitution itself. 

 
76. A writ by which the decision of the lower court is quashed by High Court or Supreme Court 

because it was based on irregular procedure is known as 

(a) Madamus 

(b) Prohibition 

(c) Certiorari 

(d) Qua Waranto 

 
77. What is the meaning of Caveat Emptor? 

(a) Let the buyer beware. 

(b) A legal action or trial an offence in which arrest can be made without a warrant. 

(c) An offence in which arrest can be made without a warrant. 

(d) The obligation of proving the case 

 
78. The international Criminal Court does not have jurisdiction with respect to 

(a) Crime of genocide 

(b) Crimes against humanity 

(c) Crime of terrorism 

(d) Crime of aggression 

 
79. Where is the Seat of International Court of Justice? 

(a) Rome 

(b) The hague 

(c) Numberg 

(d) Geneva 

 
80. The international humanitarian law relating to civilian persons in time of war was codifies in 

a comprehensive manner in 

(a) Geneva convention 

(b) Hague convention 

(c) Madrid convention 

(d) Vienna convention 

 
81. Remarks of a judge, which are casual and are not directly relevant to the case at hand are 

known as 

(a) Autrefois acquit 

(b) Ratio decidendi 

(c) Obiter dicita 

(d) Stare decisis 

 
82. Which of the following statements is incorrect? 

(a) Tort is a civil wrong 
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(b) Every civil wrong is not a tort. 

(c) In tort, normally liquidated damages are granted. 

(d) Law of tort is independence of criminal law. 

 
83. Violation of a legal right without causing any harm, loss or damage to the plaintiff is known 

as 

(a) Injuria sine damno 

(b) Damnum sine injuria 

(c) Res ipsa loquitur 

(d) Qui facit per aliumfacit per se 

 
84. In which of the following cases, the rule of strict liability was initially laid down? 

(a) Reylands v. Fletcher 

(b) M.C. Mehta V union of India 

(c) Ponting v. Noakes 

(d) Box v. Jubb 

 
85. In which of the following circumstances, there shall be no vicarious liability? 

(a) Liability of principle for the tort of his agent. 

(b) Liability of partners for each other’s tort. 

(c) Liability of the master for the tort of his servant. 

(d) Liability of the teacher for the tort of his student. 

 
86. Which of the following is not a defense in case of tort? 

(a) Volenti non fit injuria. 

(b) Act of god 

(c) Non commercial motive 

(d) Statutory authority 

 
87. Which of the following statements is incorrect with respect to defamation? 

(a) Defamation is caused when a person causes injury to another person’s reputation without 

any lawful justification. 

(b) Defamation is a crime, not a tort. 

(c) Defamation may be caused by Libel or slander or both. 

(d) Statements made under the defence of absolute privilege e.g. in Parliamentary proceedings 

are not actionable 

 
88. The territorial waters may extend up to 

(a) 12 nautical miles from the baseline of the coastal States. 

(b) 24 nautical miles from the baseline of the coastal States. 

(c) 50 nautical miles from the baseline of the coastal States. 

(d) 200 nautical miles from the baseline of the coastal States. 
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89. A person who obtains money from other person at gun point commits the offence of 

(a) Theft 

(b) Robbery 

(c) Cheating 

(d) Extortion 

 
90. Who is presently an Indian Judge in the International Court of Justice? 

(a) Justice R.M. Lodha 

(b) Justice H.L. Dattu 

(c) Justice Dalvir Bhandari 

(d) Justice Nagmdra Singh 

 
91. The Fourth of Constitution of India Deals with 

(a) Allocation of Seats in the Council of States. 

(b) Allocation of States in the House of People. 

(c) Languages. 

(d) Forms of oath or Affirmation. 

 
92. Who was the first Law Minister of independent India? 

(a) Maulana Abdul Kalam 

(b) K.N. Katju 

(c) B.R. Ambedkar 

(d) C.Rajagopalchari 

 
93. Ordinance is promulgate by the: 

(a) Governor 

(b) President 

(c) Parliament 

(d) Both (A) and (B) 

 
94. may by law alter the name of any State. 

(a) Union Council of Ministers 

(b) Parliament 

(c) Lok Sabha 

(d) Rajya Sabha 

 
95. Bharat ratna Padma Vibhushan, Padma Bhushan, and Padma Shri are 

(a) Title 

(b) Awards 

(c) To be added as suffixes or prefixes to the names of the recipients. 

(d) Both (A) and (C) 

 
96. Narco analysis test without consent is 
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(a) Permitted in all cases. 

(b) Prohibited 

(c) Within the discretion of judge. 

(d) Within the discretion of investigating officer. 

 
97. The word “secular” was added to the Preamble of the Constitution in the year 

(a) 1978 

(b) 1976 

(c) 1975 

(d) 1979 

 
98. Right to privacy is a 

(a) Part of personal liberty. 

(b) Right to be let alone. 

(c) Fundamental right. 

(d) All of the above 

 
99. Uniform civil code is a 

(a) Directive principal 

(b) Fundamental Duty 

(c) Fundamental right 

(d) None of the above 

 
100. Respect for national flag is a 

(a) Fundamental Right 

(b) Directive principle 

(c) Fundamental duty 

(d) Fundamental Duty only for government functionaries 

 
101. Reservation for woman representation is introduced in 

(a) Panchayat 

(b) Parliament 

(c) Legislative Assembly 

(d) All of the above 

 
102. Public health is an item in the 

(a) State List 

(b) Union List 

(c) Concurrent List 

(d) None of the above 

 
103. CAG is appointed by 

(a) The Prime minister of India 
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(b) The President of India 

(c) The Parliament of India 

(d) Finance Minister 

 
104. Writ of habeas corpus is a/an 

(a) Constitutional remedy 

(b) Legislative remedy 

(c) Executive remedy 

(d) Quasi judicial remedy 

 
105. Who presides over the joint session of Parliament? 

(a) Parliamentary Affairs minister 

(b) The Prime Minister 

(c) The Speaker of Lok Sabha 

(d) The Vice President 

106. Under the Constitution of India raising the level of nutrition of people has been provided as 

a 

(a) Fundamental Duty 

(b) Directive Principle 

(c) Duty of Medical Council of India 

(d) None of the above 

 
107. “Assertion (A): A void contract is not necessarily illegal 

Reason (R): Every illegal contract is void 

(a) Both A and R are individually true and R is the correct explanation of A 

(b) Both A and R are individually true and R is not the correct explanation of 

(c) A is true but R is false 

(d) A is false but R is true 

 
108. What is the duration of ‘zero hour’ in Lok Sabha? 

(a) Three hours 

www.jurisacademy.com 

(b) Half an hour 

(c) One hour 

(d) Unspecified 

 
109. The rule of evidence which forbids a person from denying the truth of a statement made 

earlier by him is known as 

(a) Estoppel 

(b) Res judicata 

(c) Mcnaughten rule 

(d) Contradiction 

http://www.jurisacademy.com/
http://www.jurisacademy.com/
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110. The nature of relationship a doctor shares with his patient is 

(a) Moral 

(b) Customary 

(c) Statutory 

(d) Fiduciary 

 
111. The First Official Language Commission, as required under Article 344 of the Constitution, 

was constituted by the President in: 

(a) 1950 with K.M. Munshi as its Chairman 

(b) 1955 with B.G. Kher as its Chairman 

(c) 1960 with M.C Chhagla as its Chairman 

(d) 1965 with Humayun Kabir as its Chairman 

 
112. Indian Evidence Act was drafted by: 

(a) TB Maculay 

(b) Huxley 

(c) James F. Stephen 

(d) Henry summer Maine 

 
113. A Dying Declaration is admissible 

(a) Only in criminal proceedings 

(b) Only in civil proceedings 

(c) Both in civil and criminal proceedings 

(d) Only in quasi judicial proceedings 

 
114. The Rule of absolute liability was first down in India in MC Mehta v. Union of India which 

pertained to the 

(a) Bhopal gas tragedy case 

(b) Oleum gas leak case 

(c) Uphaar cinema tragedy case 

(d) Burning of school in Tamil Nadu 

 
115. Which of these is not correctly matched? 

(a) Blasphemy: Speaking Against God 

(b) Libel: Written Defamation 

(c) Slander: Spoken Defamation 

(d) Tort: Liquidated damages 

 
116. “Assertion (A): The Indian Constitution was adopted on 26th November, 1949. 

Reason (R): Law Day is celebrated in India on 26th November every year. 

(a) Both A and R are individually true and R is the correct explanation of A 

(b) Both A and R are individually true and R is not the correct explanation of 

(c) A is true but R is false 
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(d) A is false but R is true 

 
117. Who is known as father of international law? 

(a) Grotius 

(b) Hobbes 

(c) Oppenheim 

(d) Lauterpatch 

 
118. The idea of Preamble to Constitution has been borrowed from? 

(a) U.S.A 

(b) Japan 

(c) U.K. 

(d) Australia 

 
119. Who can be appointed as a Director of a company? 

(a) Any juristic person 

(b) Only an individual 

(c) Any artificial person 

(d) All of the above 

 
120. Which of the following is not an example of intellectual property? 

(a) Right on the contents of a book 

(b) Right on the logo of a company 

(c) Right on the manufacturing process of a drug 

(d) Right on the discovery of a plant species 

 
121. An ‘encumbrance’ in legal parlance is a 

(a) Charge on property 

(b) Gift of property 

(c) Right in rem 

(d) Right against perpetuity 

 
122. Any two people, irrespective of their religion, caste, and creed can solemnize a marriage, 

commonly known as civil marriage under: 

(a) Indian Christian marriage Act 

(b) he Family Courts Act 

(c) Special Marriage Act 

(d) Hindu Marriage Act 

 
123. Which one of the following Constitutional Amendments was based on the 

recommendations of the Swaran Singh committee? 

(a) 24th amendment 

(b) 29th amendment 
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(c) 42nd amendment 

(d) 44th amendment 

 
124. Under the Indian constitution, certain payments like emoluments to the Presidents 

judges of Supreme Court do not require any parliament sanction as such, but are nevertheless 

shown separately in the budget. These are drawn from: 

(a) Grant- in- aid 

(b) Contingency – Fund 

(c) Consolidated Fund of India 

(d) Public accounts 

 
125. “Directive principle of state policy is the conscience of the Constitution which embody the 

social philosophy of the constitution” was said by: 

(a) Granville Austin 

(b) K.C. Wheare 

(c) A V Dicey 

(d) B. R. Ambedkar 

 
126. Official language of the United nations include: 

 
(a) English, Chinese and Japanese 

(b) English, Russian and German 

(c) English, Persian and French 

(d) English, Russian and French 

 
127. United Nations day is celebrated on: 

(a) 24-Oct 

(b) 26-Jan 

(c) 25-Aug 

(d) 25-Dec 

 
128. Trafficking in human beings is in the Constitution of India. 

(a) Prohibited 

(b) Permitted in certain circumstances only 

(c) Regulated 

(d) Permitted 

 
129. Law of Torts deal with: 

(a) Defamation 

(b) Trespass 

(c) Negligence 

(d) All of the above 
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130. Section 66A of the Information Technology Act was struck down by the Supreme Court on 

the ground of violation of 

(a) Personal liberty 

(b) Equality 

(c) Free speech and expression 

(d) All of the above 

 
131. The book “The Indian Constitution and Social Revolution: Right to Property since 

Independence” was written by: 
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(a) Soli Sorabjee 

(b) Krishna ananth 

(c) D.D. Basu 

(d) None of the above 

 
132. The first Law Commission of independent india was set up under the Chairmanship of: 

(a) T.V Venkatrama Aiyar 

(b) P.B. Gajendragadkar 

(c) M. C. Setalvad 

(d) K. V. K. Sundaram 

 
133. “Amicus Curiae” refers to: 

(a) Friend of the court 

(b) Amicable settlement out of court 

(c) Case pending in a court 

(d) None of the above 

 
134. Who is CEO of NITI Aayog in India? 

(a) Ashok Chawla 

(b) Amitabh Kant 

(c) Sudhir Mittal 

(d) Augustene Peter 

 
135. The Members of the National human Rights Commission are appointed by: 

(a) The President of India 

(b) Chairperson of National Human Rights Commission 
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(c) The chief Justice of India 

(d) The Prime Minister of India 

 
136. Third Schedule to the Constitution of India deals with: 

(a) List of States and Union Territories 

(b) Languages 
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(c) Panchayati Raj 

(d) Forms of Oaths or Affirmation 

 
137. Protection from ‘double jeopardy’ means: 

(a) No person shall be prosecuted and compelled to be a witness in the same cast 

simultaneously 

(b) No person shall be sued for a civil wrong and prosecuted for an offence simultaneously 

(c) No person shall be prosecuted and punished for the same offence more than once 

(d) No person shall be prosecuted for two offences simultaneously 

 
138. Which of the following statutes has been enacted for the protection of wild animals, birds 

and plants? 

(a) Environment Protection Act 

(b) Forest Conservation Act 

(c) Wildlife Protection Act 

(d) Biological Diversity Act 

 
139. Mahesh is an excellent swimmer, he finds Ramesh, child of 4 years of age drowning in the 

river Yamuna. He could have saved the child by jumping into the river. But he did not do so 

and Ramesh drowned and died. Mahesh is guilty of: 

(a) Murder 

(b) Culpable homicide not amounting to murder 
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(c) Abetment to suicide 

(d) No offence 

 
SECTION III- LOGICAL REASONING 

 
140. Mohit started from his office towards East. After covering a distance of 8 km he turned 

towards left and covered a distance of 6 km. what is the shortest distance now from his office? 

(a) 12 km 

(b) 8 km 

(c) 10 km 

(d) 6 km 

 
141. All the faces of a cube are painted with red colour. Then it is cut into 125 small equal 

cubes. How many small cubes will be formed having no face coloured? 

(a) 27 

(b) 16 

(c) 36 

(d) 25 

 
142. ||-, |-|, -||, ? 
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(a) |-| 

(b) -|| 

(c) ||- 

(d) –| 

 
143. If ‘rule’ is written as 15 18 9 2, then how would ‘evidence’ be written? 

(a) 312 21 32166 78 

(b) 2 19 6 12 2 11 26 2 

(c) 4 4 23 22 13 25 

(d) 3 45 65 23 22 100 

 
144. If MONARCH is written as OQPCTEJ, what is represented by MKPIFQO? 

(a) EMPEROR 

(b) KINGDOM 

(c) EMPIRE 

(d) MONARCHY 

 
145. Pick the odd one out 

(a) Book 

(b) Page 

(c) Tissue 

(d) E-book 

 
146. Pick the odd one out 

(a) Judge 

(b) Advocate General 

(c) Attorney General 

(d) Solicitor General 

 
147. Pick the odd one out 

(a) Hovercraft 

(b) Military Tank 

(c) Aircraft 

(d) Submarine 

 
148. Pradeep is shorter than Anu. Viraj is shorter than Pradeep. Sanam is the same height as 

Pradeep. Who is the tallest? 

(a) Anu 

(b) Pradeep 

(c) Viraj 

(d) Insufficient data 

 
149. In the above question, later another boy Gambhir joins the group. Ghambhir is 20.5 cm 
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taller than Viraj. Now who is the tallest? 

(a) Insufficient data 

(b) Gambhir 

(c) Anu 

(d) Pradeep 

 
150. Fill in the missing number: 17, 19,23,29, …..? 

(a) 31 

(b) 35 

(c) 39 

(d) 37 

 
151. Fill in the missing number: 1, 1, 2, 3,5, 8, ……., 21 

(a) 21 

(b) 8 

(c) 11 

(d) 13 

 
152. “What number will come next? 

½ , ¼, 1/8, ……. 

(a) 1/16 

(b) 1/10 

(c) 1/12 

(d) 1/24 

 
153. A man walked 20 km west, then 10 km North, and then 5 km West. Which one of the 

following statements is true regarding his current location? 

(a) It is to the North West of his original location 

(b) It is 35 km to the North West of his original location. 

(c) It is 25km to the West of his original location 

(d) It is 10km to the North of his original location. 

 
Directions (questions 154-156): Identify the choice that most appropriately completes the 

second set so that it expresses the same relationship as the first set. 

 
154. Kettle is to tea as Battery is to 

(a) Bulb 

(b) Speed 

(c) Electricity 

(d) Heat 

 
155. Tyre is to car as is to foot. 

(a) Shoe 
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(b) Toes 

(c) Ankles 

(d) Heel 

 
156. Pride is to lion as school is to 

(a) Fish 

(b) Self-esteem 

(c) Students 

(d) Dignity 

 
Directions (questions 157-159): Identify the essential part of the item given, that is, from the 

given choices, select the part without which the given item cannot exist. 

 
157. Violin: 

(a) Strings 

(b) Box 

(c) Teacher 

(d) Music 

 
158. Court: 

(a) Files 

(b) Witness 

(c) Judge 

(d) Gavel 

 
159. Zoo: 

(a) Cages 

(b) Visitors 

(c) Animals 

(d) Guards 

 
160. “A village on the Indo-Nepalese border was found to have been infiltrated by Maoists and 

other radicals. While the central administration acknowledged the locals’ support as the reason 

for the difficulty in sanitizing the region, it still sent out three teams to do a study before 

sending in a strike force: one was a fact- finding team of lawyers and sociologists, another a 

surveillance team and the third, a logistics team. The investigators found out that the locals 

were denied equality of law and justice, the surveillance and logistics teams found out that 

there were excellent and foolproof opportunities season-wise to neutralize the Maoists. 

 
Which of the following statements do you find logical? 

(a) Sending in a strike force at the earliest would solve the problem forever 

(b) Ensuring equality of law and justice to the villagers was a long term and inexpensive. 

(c) Educating the villagers against the dangers of supporting the radicals would be better 
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solution. 

(d) There is no need of any action, the problem would solve by itself 

 
161. “A terrorist was shopping in a foreign country. She wanted to buy silk scarfs. Using her 

guide book for that country’s language she found that: Silk worm is chee chan: scarf is jee; and 

earth is mik chan. How would she say ‘silk scarf’ to the shop keeper? 

(a) Mik jee 

(b) Chee jee 

(c) Mik chan 

(d) None of the above 

 
Directions: In the following questions (162-163), you must match definitions to situations. 

There is one definition and four possible choices to each question. Select the choice that 

provides the most appropriate example for the definition given in the question. Answer these 

questions based only on the given definition. 

 
162. Violating an apartment lease. Definition: This occurs when the tenant does something 

that is prohibited by the legal document that he/she signed with the landlord. Which of the 

following is the most appropriate example of violating an apartment lease? 

(a) Tina has decided to move to another city, so she calls her landlord to tell him that she is not 

interested in renewing her lease when it expires next month 

(b) Manu writes to his landlord with complaints about the apartment he has rented for a year 

(c) Vinod signed a legally binding document that requires him pay a monthly rent for his 

apartment and he has failed in this for the last three months. 

(d) Leroy feels that his landlord is not maintaining properly the apartment which he has rent. 

He consults his attorney about the possible courses of action. 

 
163. “A Guarantee is an assurance about the quality of a product that is given (1) in writing by 

the manufacturer, or (2) verbally by the person selling the product. 

 
Which is the most appropriate example of a Guarantee? 

(a) The salesman advises Kamala to be sure to buy a vaccum cleaner with a guarantee 

(b) Som buys a used digital camers from his colleague who promises to refund Som’s money if 

the camera does not perform as expected 

(c) The auto reseller specializes in refurbishing and selling used cars. 

(d) Madhab purchases a refrigerator with the highest consumer ratings 

 
164. Find out the odd one from the given four states. 

(a) Karnataka 

(b) Maharashtra 

(c) Kerala 

(d) Haryana 
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SECTION IV- MATHEMATICAL ABILITY 

 
165. If 1AB + CCA = 295, then the value of B is: 

(a) 9 

(b) 6 

(c) 8 

(d) 4 

 
166. How many times will you write the digit 2, if you write all the numbers from 201 to 300? 

(a) 99 

(b) 119 

(c) 131 

(d) 20 

 
167. Some group of letters are given; three of them are alike in some manner, while one is 

different. Find out the odd one out. 

(a) BQPR 

(b) AOCQ 

(c) IWKY 

(d) ESGU 

 
168. In a certain code SQUARE is written as 21 19 23 3 20 7 and CIRCLE is written as 5 11 20 

5 14 7. How is RECTANGLE written in the same code? 

(a) 20 5 3 20 1 14 9 14 7 

(b) 20 7 5 22 3 16 9 14 7 

(c) 20 7 3 22 1 16 7 14 7 

(d) 20 3 14 7 14 7 

 
169. 3x + y=19, and x+3y= 1. Find the value of 2x + 2y. 

(a) 10 

(b) 20 

(c) 16 

(d) 18 

 
170. Sharma family went out for a picnic and took three different types of sandwiches with 

them. Vegetables, grilled and cheese sandwiches were made in ratio o 5 to 7 to 8. If a total of 

120 sandwiches were made, how many grilled sandwich were made? 

(a) 42 

(b) 168 

(c) 158 

(d) 48 

 
171. A pot contains exactly 12 litres of milk. If milk is drained from the pot until it holds 
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exactly 6 litres of milk less than the quantity drained away, how many litres of milk were 

drained away? 

(a) 3 

(b) 6 

(c) 9 

(d) None of the above 

 
SECTION V- LEGAL APTITUDE 

172. “It has been demonstrated by many surveys that students who attend school where 

teacher/ student ratio is low get the best quality education. As a result , when my children are 

ready to attend school, I’ll make sure that they attend a school with a very small student 

population. 

Which of the following identifies the greatest flaw in the reasoning above? 

(a) Students should themselves take advantage of the low teacher/ student ratio by choosing 

small classes. 

(b) Basic intelligence should be considered the result of childhood environment, not school 

education. 

(c) In schools of large student population, bullying of weaker students is the norm 

(d) A very small student population does not by itself, ensure a low teacher/ student ratio. 

 
173. Ramesh has fifteen years of typing experience of typing; therefore, if you are looking for 

an efficient typist to key in your data into the new system, you need look no further. The 

speaker assumes that: 

(a) Ramesh will fit well into the new office environment 

(b) Fifteen years of practice ensures typing efficiency 

(c) Ramesh is a fast and accurate typist 

(d) Ramesh’s job profile is the best that the new employer could probably get 

 
174. “The rate of violent crime in the states of Ntigua is up 40 percent from last year. The fault 

lies entirely in the judicial system: Recently the judges’ sentences have been so lenient that 

criminals can now do almost anything without fear of a long and assured prison term. 

The argument above would be weakened if it were true that: 

(a) 35 percent of the police in Antigua have been laid off in the year due to budget cuts 

(b) In a recent poll 70 percent of the population in Antigua opposes capital punishment 

(c) 90 percent of the other states in the country have in fact in fact lower crime rates than does 

this state 

(d) While collar crime in Antigua has also increased by over 20 percent in the last year 

 
175. “Complete the narration below: 

Some scholars have suggested that long-term prisoners, on release from jail, be given a 

reasonable state pension to reduce the likelihood of their resorting to crime. A section of 

populace instinctively rejects this suggestion as it feels that it would be like rewarding criminal 

activity. The supporters of the prisoners’ pension scheme have criticized those who reject this 
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possibility, by claiming that for critics 

(a) Welfare of individual is also important 

(b) Emotion is more important than justice. 

(c) Post sentence behaviour is not important 

(d) Punishment for criminals is more important than crime prevention 


